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Construct a box and whiskers plot for the data set: {5, 2, 16, 9, 13, 7, 10}

First, you have to put the data set in order from greatest to least or from least to greatest

From least to greatest we get : 2    5    7    9    10     13    16
2    5    7    9    10     13    16Q3
Median 
Q2
Q1
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Linear Equations
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Example #1:
24,10, 13, 2, 28, 34, 65, 67, 55, 34, 25, 59, 8, 39, 61
First, put this data in order
2,6,10, 13, 24, 25, 28, 34, 34, 39, 55, 59, 61, 65, 67

We will use 0, 1, 2, 3, 4, 5, and 6 as stems. The plot is displayed below:

Stems Leaves

Means 55
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What does it stand for?

Slope (or Gradient) ¥ Intercept

y = how far up
x = how far along
m = Slope or Gradient (how steep the line is)

b = the V Tntercent fwhere the line rraccac the YV avic)
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Box and whiskers plot

Before studying this lesson, you need to understand the median. Basically a box and
Wwhiskers plot 100ks like this:

box

whisker #—————¢———& & & whisker

Just like the name suggests, the rectangle you see is called a box. And the reason we call
the two lines extending from the edge of the box whiskers is simply because they look like
Wwhiskers or mustache, especially mustache of a cat

The five points or dot that you see represents the followings starting from left to right

< Median

Lower exireme

Lower quartle
Upper quatie Upper extreme
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Lower extreme: the lowest or smallest value in a set of data
Lower quartile or first quartile: the median of all data below the median

Median or second quartile: the middle value of the set of data. If there are two values in the
middle, the median is the average of the two values

Upper quartie or third quartiee: the median of all data above the median

Upper extreme: The biggest value in the set
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Your graph should look like this after you are done
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Draw a rectangle or box starting from the lower quartile to the upper quartiee. Draw a
vertical segment too to represent the median
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Finally, draw horizontal segments or whiskers that connect all five dots together.

The box and whiskers plot for {5, 2, 16,9, 13, 7, 10} is :
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Stem and leaf plot

Astem and leaf plot organizes data by showing the items in order using stems and leaves.

The leaf is the last digit on the right or the ones digits. The stem is the remaining digit or
digits.

Examples:
For 12, 2 s the leaf and 1 is the stem. For 45.7, 7 is the leaf and 45 is the stem

Basically, a straight vertical line is used. Then, we put all stems on the left and all leaves on
the right

Stems Leaves

Stems go here | Leaves go here
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